Lesson 10

Min /max problems
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Rosalie is organizing a circus performance to raise money for a
charity. She is trying to decide how much to charge for tickets.
From past experience she knows that the number of tickets sold is
a_linear function of the price. If she charges 5 dollars per ticket ,
she can sell 1000 tickets, if she charges 7 dollars she can only sell
900 tickets. How much should(she charge per @o make the

@st mo@ price of Oae trcket
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@)’J have 720 m of fencing)with which to build 3 enclosures. Two
are identical squares and one is a rectangle that is twice as long as
it is wide. What should be the dimensions of th’é squares to

minimize the combined area of all three enclosures ? What should

be the dimensions of the squares to maximize the combined area of
all three enclosures ? (dimensioas =© are 9k)
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